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BT £ 3 it BT £ 5 3 it
B ZEET 0 0 0 |'= RHT 5 14 19
KIZHT 168 172 340 |#KHET 19 18 37
5T 2 2 4 |hBHT 0 4 4
= AT 252 248 500 |5 LI BT 14 20 34
=AdaE 81 85 166 |11 SHET 10 9 19
S BT 7 4 11 ([#AJERET 4 2 6
= ] BT 79 78 157 ||ZHET 12 20 32
FFHET 0 2 2 |S<ET 24 24 48
JKATET 31 41 72 |fa R HET 0 0 0
;A EHHET 4 15 19 (TS HT 218 245 463
YR A< BT 0 0 0 ||Fa B /T 0 1 1
4/ SERET 15 13 28 |5 R HET 130 120 250
FF+EET 10 10 20 |fE EHT 94 88 182
HH R HET 7 4 11 (/T 0 0 0
SE ARET 9 14 23 |— & HT 1 4 5
YE A BT 4 6 10 (| FHT 44 46 90
HHHET 2 1 3 | [RHET 149 236 385
J\BEHT 6 23 29 ||75;HAT 30 40 70
FHERHET 17 11 28
AHT 14 8 22
L AHT 0 1 1
b LR HT 3 9 12
JCHT 14 13 27
FHT 2 9 11
{ENSEET 22 22 M| & i 1,503 1,682 3,185




